
Order   IC3901 L2ES00000018 Gyro Sensor IC 1 E.S.D. 02

Order   IC3902 L2ES00000019 Gyro Sensor IC 1 E.S.D. 02

Order   Q3901 B1ADKB000015 TRANSISTOR 1 E.S.D. 02

Order   L3901 G1C100MA0410 CHIP INDUCTOR 10UH 1  02

Order   FP3901 K1MN22BA0197 CONNECTOR 22P 1  02

Order   HS3901 K1NA09E00038 CONNECTOR 9P 1  02

Order   C3901 F1G1C104A080 C.CAPACITOR CH 16V 0.1U 1  02

Order   C3903 ECJ0EB1C103K C.CAPACITOR CH 16V 0.01U 1  02

Order   C3904 ECJ0EB1C103K C.CAPACITOR CH 16V 0.01U 1  02

Order   C3905 ECJ0EC1H270J C.CAPACITOR CH 50V 27P 1  02

Order   C3906 ECJ0EC1H270J C.CAPACITOR CH 50V 27P 1  02

Order   C3907 ECJ0EC1H270J C.CAPACITOR CH 50V 27P 1  02

Order   C3908 ECJ0EC1H270J C.CAPACITOR CH 50V 27P 1  02

Order   C3909 ECJ0EC1H270J C.CAPACITOR CH 50V 27P 1  02

Order   C3910 F3G0J107A017 C.CAPACITOR CH 6.3V 100U 1  02

Order   C3911 F1G0J1050007 C.CAPACITOR CH 6.3V 1U 1  02

Order   C3912 F3F0J226A032 T.CAPACITOR CH 6.3V 22U 1  02

Order   C3913 F3F0J226A032 T.CAPACITOR CH 6.3V 22U 1  02

Order   C3914 F3F0J476A032 E.CAPACITOR CH 6.3V 47U 1  02

Order   R3902 ERJ2GEJ220 M.RESISTOR CH 1/16W 22 1  02

Order   R3903 ERJ2GEJ220 M.RESISTOR CH 1/16W 22 1  02

Order   R3904 ERJ2GEJ220 M.RESISTOR CH 1/16W 22 1  02

Order   R3905 ERJ2GEJ220 M.RESISTOR CH 1/16W 22 1  02

Order   R3906 ERJ2GEJ220 M.RESISTOR CH 1/16W 22 1  02

Order   R3907 ERJ2GEJ103 M.RESISTOR CH 1/10W 10K 1  02

Order Change Ref.No. Part No. Part Name & Description Qty Remarks Diagram ID

Page 1 sur 11Parts List

30/03/2010http://tda.panasonic-europe-service.com/docs/2z4bb1b5ddz1z2dee8z6672z786d6cz22zbd6a87e45dcc18c6257e9f358f9f3c4c611932b4/ts...



Order   R3908 D0GB150JA057 M.RESISTOR CH 1/10W 15 1  02

Order   R3909 ERJ2GEJ333 M.RESISTOR CH 1/16W 33K 1  02

Order   R3910 ERJ2GEJ331 M.RESISTOR CH 1/16W 330 1  02

Order   R3911 ERJ2GEJ271 M.RESISTOR CH 1/10W 270 1  02

Order   R3912 ERJ2GEJ102X M.RESISTOR CH 1/16W 1K 1  02

Order   R3913 ERJ2GEJ102X M.RESISTOR CH 1/16W 1K 1  02

Order   R3915 ERJ2GEJ103 M.RESISTOR CH 1/10W 10K 1  02

Order   R3916 ERJ2GEJ103 M.RESISTOR CH 1/10W 10K 1  02

Order   R3917 ERJ2GEJ103 M.RESISTOR CH 1/10W 10K 1  02

Order   R3918 ERJ2GEJ103 M.RESISTOR CH 1/10W 10K 1  02

Order   D6701 B3AAB0000334 LED 1 E.S.D. 05

Order   D6702 B3AGB0000051 LED 1 E.S.D. 05

Order   S6701 K0D112B00145 SWITCH 1  05

Order   S6702 K0F111A00589 SWITCH 1  05

Order   LB6701 J0JJC0000015 FILTER 1  05

Order   LB6702 J0JJC0000015 FILTER 1  05

Order   JK6701 K4ZZ04000056 JK, BATTERY 1  05

Order   JK6702 K2EB2B000024 JK, DC IN 1  05

Order   FP6701 K1KB40AA0094 CONNECTOR 40P 1  05

Order   FP6703 K1MN06BA0197 CONNECTOR 6P 1  05

Order   P6702 K1KA02AA0051 CONNECTOR 2P 1  05

Order   R6701 D0GA223JA015 M.RESISTOR CH 1/16W 22K 1  05

Order   R6702 ERJ2GEJ472 M.RESISTOR CH 1/10W 4.7K 1  05

Order   R6703 D0GA103JA015 M.RESISTOR CH 1/16W 10K 1  05

Order   Q901 DSA300100L TRANSISTOR 1 E.S.D. 08

Order   D901 B3AFB0000200 LED 1 E.S.D. 08

Order   D902 B3AFB0000200 LED 1 E.S.D. 08

Page 2 sur 11Parts List

30/03/2010http://tda.panasonic-europe-service.com/docs/2z4bb1b5ddz1z2dee8z6672z786d6cz22zbd6a87e45dcc18c6257e9f358f9f3c4c611932b4/ts...



Order   D903 B3AFB0000200 LED 1 E.S.D. 08

Order   D904 B3AFB0000200 LED 1 E.S.D. 08

Order   D905 B0BC016A0267 DIODE 1 E.S.D. 08

Order   D906 B0BC5R6A0266 DIODE 1 E.S.D. 08

Order   S901 K0F111A00589 SWITCH 1  08

Order   S902 K0F111A00589 SWITCH 1  08

Order  B901 ML-614S/DN BUTTON BATTERY 1  08

Order   FP901 K1MN26BA0197 CONNECTOR 26P 1  08

Order   FP902 K1MN24BA0197 CONNECTOR 24P 1  08

Order   FP903 K1MN06BA0197 CONNECTOR 6P 1  08

Order   C903 ECJ1VC1H390J C.CAPACITOR CH 50V 39P 1  08

Order   C904 ECJ1VC1H390J C.CAPACITOR CH 50V 39P 1  08

Order   C905 ECJ1VC1H390J C.CAPACITOR CH 50V 39P 1  08

Order   C906 F1J1A475A023 C.CAPACITOR CH 10V 4.7U 1  08

Order   C908 F1H1C104A071 C.CAPACITOR CH 16V 0.1U 1  08

Order   C909 ECJ1VB1A105K C.CAPACITOR CH 10V 1U 1  08

Order   C910 ECJ1VB0J105K C.CAPACITOR CH 6.3V 1U 1  08

Order   R903 ERJ3RBD271 M.RESISTOR CH 1/10W 270 1  08

Order   R904 ERJ3RBD271 M.RESISTOR CH 1/10W 270 1  08

Order   R905 ERJ3RBD271 M.RESISTOR CH 1/10W 270 1  08

Order   R906 D0GB222JA041 M.RESISTOR CH 1/10W 2.2K 1  08

Order   R907 D0GB103JA057 M.RESISTOR CH 1/10W 10K 1  08

Order   R908 D0GB272JA041 M.RESISTOR CH 1/10W 2.7K 1  08

Order   R909 D0GB103JA057 M.RESISTOR CH 1/10W 10K 1  08

Order   R910 D0GB272JA041 M.RESISTOR CH 1/10W 2.7K 1  08

Order   R911 D0GB562JA041 M.RESISTOR CH 1/10W 5.6K 1  08

Order   R912 D0GB183JA057 M.RESISTOR CH 1/10W 18K 1  08

Page 3 sur 11Parts List

30/03/2010http://tda.panasonic-europe-service.com/docs/2z4bb1b5ddz1z2dee8z6672z786d6cz22zbd6a87e45dcc18c6257e9f358f9f3c4c611932b4/ts...



Order   R913 ERJ3RBD563V M.RESISTOR CH 1/10W 56K 1  08

Order   R914 ERJ3RBD562 M.RESISTOR CH 1/10W 5.6K 1  08

Order   R915 D0GB473JA041 M.RESISTOR CH 1/10W 47K 1  08

Order   R917 D0GB562JA041 M.RESISTOR CH 1/10W 5.6K 1  08

Order   R918 D0GB105JA057 M.RESISTOR CH 1/10W 1M 1  08

Order   D4301 B3AFB0000313 LED 1 (SDR-H86) E.S.D. 09

Order   1 VEP02584A REAR P.C.B. 1 (RTL) E.S.D. M1

Order   2 LSKF0753 REAR COVER 1  M1

Order   3 LSGK1050 FRONT CASE 1 (-K,-H) M1

Order   3 LSGK1042 FRONT CASE 1 (-S,-R,-A) M1

Order   4 LSYK2896 LENS PIECE U 1 (SDR-H85, SDR-H95) M1

Order   4 LSYK2897 LENS PIECE U 1 (SDR-H86) M1

Order   5 LSYK2901 FRONT PANEL U 1  M1

Order   6 LSGT0633 SHUTTER KNOB 1  M1

Order   7 VDL2468 LED LIGHT LENS 1 (SDR-H86) M1

Order   8 VEP20C83A LED LIGHT P.C.B. 1 (SDR-H86) (RTL) E.S.D. M1

Order   9 LSMG0199 LENS DAMPER 1  M1

Order   10 LSKM1993 GRIP COVER(HDD) 1  M1

Order   11 LSMA1064 STRAP ANGLE 1  M1

Order   12 LSMA1064 STRAP ANGLE 1  M1

Order   13 LSGQ0371 GRIP BELT U 1  M1

Order   14 LSYK2927 JACK COVER (HDD) U 1  M1

Order   22 VEP03H83AP MAIN P.C.B. 1 H85EG,EB,EC,EF,EP (RTL) E.S.D. M1

Order   22 VEP03H83AQ MAIN P.C.B. 1 H85EE,GA,GK,GN,GC, H95EE,GA,GC (RTL) E.S.D. M1

Order   22 VEP03H83AN MAIN P.C.B. 1 H85GT,P,PC (RTL) E.S.D. M1

Order   22 VEP03H83AR MAIN P.C.B. 1 H86EB(RTL) E.S.D. M1

Order   22 VEP03H83AM MAIN P.C.B. 1 H86PR,PU (RTL) E.S.D. M1

Page 4 sur 11Parts List

30/03/2010http://tda.panasonic-europe-service.com/docs/2z4bb1b5ddz1z2dee8z6672z786d6cz22zbd6a87e45dcc18c6257e9f358f9f3c4c611932b4/ts...



Order   23 LSKM1990 REAR CASE 1  M1

Order   24 LSGT0630 BATTERY RELEASE KNOB 1  M1

Order   25 LSMB0369 BATTERY RELEASE SPRING 1  M1

Order   26 LSMD1117 BATTERY RELEASE HOLDER 1  M1

Order   27 LSGT0631 MODE SELECT KNOB 1  M1

Order   28 LSGL1553 LED PANEL(REAR) 1  M1

Order   29 LSSC1111 EARTH PLATE(MODE) 1  M1

Order   30 LSGT0632 S/S BUTTON 1  M1

Order   31 VEP21310A DC BATT OP FPC 1 (RTL) E.S.D. M1

Order   32 LSSC1112 EARTH PLATE (REAR) 1  M1

Order   35 LSYK2834 SIDE CASE R U 1 H85EG,EB,EC,EE,EF,EP,GA,GK,GN,GC, H95EE,GA,GC M1

Order   35 LSYK2833 SIDE CASE R U 1 H85GT,P,PC M1

Order   35 LSYK2836 SIDE CASE R U 1 H86EB M1

Order   35 LSYK2835 SIDE CASE R U 1 H86PR,PU M1

Order   36 LSKM2010 TOP CASE 1 (-K) M1

Order   36 LSKM1997 TOP CASE 1 (-S) M1

Order   36 LSKM2012 TOP CASE 1 (-R) M1

Order   36 LSKM2011 TOP CASE 1 (-A) M1

Order   36 LSKM2065 TOP CASE 1 (-H) M1

Order   37 LSGU0779 TOP BUTTON 1  M1

Order   38 LSGK1047 DECO. PIECE (TOP) 1 (-K,-H) M1

Order   38 LSGK1039 DECO. PIECE (TOP) 1 (-S,-R,-A) M1

Order   39 LSYK2810 TOP OPERATION U 1  M1

Order   40 L0AA01A00049 SPEAKER 1  M1

Order   41 LSMC0178 SPEAKER ANGLE 1  M1

Order   42 LSMA1169 MAIN FRAME 1  M1

Order   43 LSHN0021 TRIPOD FRAME 1  M1

Page 5 sur 11Parts List

30/03/2010http://tda.panasonic-europe-service.com/docs/2z4bb1b5ddz1z2dee8z6672z786d6cz22zbd6a87e45dcc18c6257e9f358f9f3c4c611932b4/ts...



Order   44 LSKM1991 SHUTTER GUIDE 1  M1

Order   45 LSML0386 SHUTTER ARM 1  M1

Order   46 LSKF0749 SHUTTER PANEL 1  M1

Order   47 LSGF0561 SHUTTER COVER 1  M1

Order   48 LSMB0370 SHUTTER SPRING 1  M1

Order   49 LSEQ0874 MIC U 1  M1

Order   50 RFKV0219HDKT HDD (80GB) 1 (SDR-H85, H86) M1

Order   50 RFKV0220HDKT HDD (120GB) 1 (SDR-H95) M1

Order   51 VEP79257A HDD FPC 1  M1

Order   52 VMG1922 HDD DAMPER 1  M1

Order   53 VMG1922 HDD DAMPER 1  M1

Order   54 VEE1H20 LIGHT WIRE 1 (SDR-H86) M1

Order   55 LSGK1045 GRIP PIECE 1  M1

Order   56 VWJ2129 REAR F.P.C. 1  M1

Order   57 LSGL1555 LED PANEL(REAR/HDD) 1  M1

Order   58 LSSC1110 SIDE L ANGLE 1  M1

Order   B1 XQN16+BJ4FN SCREW 1  M1

Order   B2 XQN16+BJ4FN SCREW 1  M1

Order   B3 XQN16+BJ4FN SCREW 1  M1

Order   B4 XQN16+BJ5FN SCREW 1  M1

Order   B5 XQN16+BJ5FN SCREW 1  M1

Order   B6 XQN16+BJ5FN SCREW 1 (SDR-H86) M1

Order   B7 XQN16+B4FJK SCREW 1  M1

Order   B8 XQN16+BJ5FJK SCREW 1  M1

Order   B9 XQN16+B4FJK SCREW 1  M1

Order   B10 XQN16+B4FJK SCREW 1  M1

Order   B11 XQN16+B4FJK SCREW 1  M1

Page 6 sur 11Parts List

30/03/2010http://tda.panasonic-europe-service.com/docs/2z4bb1b5ddz1z2dee8z6672z786d6cz22zbd6a87e45dcc18c6257e9f358f9f3c4c611932b4/ts...



Order   B12 XQN16+B4FJK SCREW 1  M1

Order   B13 XQN16+B4FJK SCREW 1  M1

Order   B14 XQN16+B4FJK SCREW 1  M1

Order   B15 XQN16+B4FJK SCREW 1  M1

Order   B16 XQN16+B4FJK SCREW 1  M1

Order   B18 XQN16+BJ5FJK SCREW 1  M1

Order   B19 LSHD0132 SCREW 1  M1

Order   B20 LSHD0132 SCREW 1  M1

Order   B21 XQN16+BJ4FN SCREW 1  M1

Order   B22 XQN16+BJ4FN SCREW 1  M1

Order   B23 XQN16+BJ5FJK SCREW 1  M1

Order   B24 XQN16+BJ5FN SCREW 1  M1

Order   B25 XQN16+B4FJK SCREW 1  M1

Order   B30 XQN16+B4FJK SCREW 1  M1

Order   B31 XQN16+B4FJK SCREW 1  M1

Order   B32 XQN16+BJ5FJK SCREW 1  M1

Order   B33 XQN16+B4FJK SCREW 1  M1

Order   B34 XQN16+B4FN SCREW 1  M1

Order   B35 XQN16+B4FN SCREW 1  M1

Order   B36 XQN16+BJ5FJK SCREW 1  M1

Order   B37 XQN16+BJ4FN SCREW 1  M1

Order   B38 XQN16+BJ4FN SCREW 1  M1

Order   B39 XQN16+BJ4FN SCREW 1  M1

Order   B40 XQN16+BJ4FN SCREW 1  M1

Order   B41 XQN16+B4FN SCREW 1  M1

Order   B42 XQN16+B4FN SCREW 1  M1

Order   B43 XQN16+B4FN SCREW 1  M1

Page 7 sur 11Parts List

30/03/2010http://tda.panasonic-europe-service.com/docs/2z4bb1b5ddz1z2dee8z6672z786d6cz22zbd6a87e45dcc18c6257e9f358f9f3c4c611932b4/ts...



Order   B44 XQN16+B4FJK SCREW 1  M1

Order   B45 XQN16+B4FJK SCREW 1  M1

Order   15 LSKM1982 LCD CASE B 1  M2

Order   16 LSGU0776 LCD OPERATION BUTTON 1  M2

Order   17 LSGU0776 LCD OPERATION BUTTON 1  M2

Order   18 LSSC1107 LCD SHIELD CASE 1  M2

Order   19 LSYK2868 LCD U 1  M2

Order   20 VEP26326A MONITOR P.C.B. 1 (RTL) E.S.D. M2

Order   21 LSYK2869 MENU SELECTOR U 1  M2

Order   33 LSYK2865 SHAFT CASE U 1 (-K,-H) M2

Order   33 LSYK2866 SHAFT CASE U 1 (-S,-R,-A) M2

Order   34 LSYK2870 LCD CASE A U 1 H85EGK,EBK,ECK,EEK,EFK,EPK,GAK,GKK,GNK,GCK,GTK,PK,PCK M2

Order   34 LSYK2871 LCD CASE A U 1 H85EGS,ECS,EES,EPS,GAS,GCS,GKS,PS M2

Order   34 LSYK2872 LCD CASE A U 1 H85EGR,ECR,EFR,EPR,GAR,GKR,GCR,GTR,PCR M2

Order   34 LSYK2873 LCD CASE A U 1 H85GTA,PA,PCA M2

Order   34 LSYK2991 LCD CASE A U 1 H86EBH M2

Order   34 LSYK2990 LCD CASE A U 1 H86PRK,PUK M2

Order   34 LSYK2992 LCD CASE A U 1 H86PUS M2

Order   34 LSYK2993 LCD CASE A U 1 H86PUR M2

Order   34 LSYK2994 LCD CASE A U 1 H95EEK,GAK,GCK M2

Order   B17 XQN16+BJ4FN SCREW 1  M2

Order   B26 XQN16+B3FN SCREW 1  M2

Order   B27 XQN16+B3FN SCREW 1  M2

Order   401 LSXN0061 LENS U 1  M3

Order   401-1 L6HA66NB0011 ZOOM MOTOR UNIT 1  M3

Order   401-2 L6HA66NB0012 FOCUS MOTOR UNIT 1  M3

Order   401-3 LSEM0118 AUTO IRIS UNIT 1  M3

Page 8 sur 11Parts List

30/03/2010http://tda.panasonic-europe-service.com/docs/2z4bb1b5ddz1z2dee8z6672z786d6cz22zbd6a87e45dcc18c6257e9f358f9f3c4c611932b4/ts...



Order   402 VEP22409A CCD P.C.B. 1 E.S.D. M3

Order   403 LSDW0141 CCD CASE 1  M3

Order   404 LSFL0343 OPTICAL LPF 1  M3

Order   405 LSMX0246 CCD CUSHION 1  M3

Order   B401 LSHD0136 SCREW 1  M3

Order   B402 LSHD0136 SCREW 1  M3

Order   B403 XQN16+BJ4FN SCREW 1  M3

Order   B404 XQN16+BJ4FN SCREW 1  M3

Order   B405 XQN16+BJ4FN SCREW 1  M3

Order   B406 XQN16+BJ4FN SCREW 1  M3

Order   B407 XQN16+BJ4FN SCREW 1  M3

Order   B408 XQN16+BJ4FN SCREW 1  M3

Order   501 VYQ5309 PACKING CASE U 1 H85EGS,ECS,EES,EPS,GAS M4

Order   501 VYQ5315 PACKING CASE U 1 H85EGR,ECR,EFR,EPR,GAR M4

Order   501 VYQ5183 PACKING CASE U 1 H85GKK M4

Order   501 VYQ5310 PACKING CASE U 1 H85GKS M4

Order   501 VYQ5316 PACKING CASE U 1 H85GKR M4

Order   501 VYQ5312 PACKING CASE U 1 H85GCS M4

Order   501 VYQ5317 PACKING CASE U 1 H85GCR M4

Order   501 VYQ5188 PACKING CASE U 1 H85GTK M4

Order   501 VYQ5597 PACKING CASE U 1 H85GTR M4

Order   501 VYQ5596 PACKING CASE U 1 H85GTA M4

Order   501 VYQ5308 PACKING CASE U 1 H85PS M4

Order   501 VYQ5313 PACKING CASE U 1 H85PA,PCA M4

Order   501 VYQ5314 PACKING CASE U 1 H85PCR M4

Order   501 VYQ5535 PACKING CASE U 1 H86PUS M4

Order   501 VYQ5536 PACKING CASE U 1 H86PUR M4

Page 9 sur 11Parts List

30/03/2010http://tda.panasonic-europe-service.com/docs/2z4bb1b5ddz1z2dee8z6672z786d6cz22zbd6a87e45dcc18c6257e9f358f9f3c4c611932b4/ts...



Order   502 VPF1294 POLYETHYLENE BAG 1  M4

Order   503 VPF1388 PROTECT BAG 1  M4

Order   504 K2KYYYY00054 AV CABLE 1  M4

Order   505 K1HY04YY0032 USB CABLE 1  M4

Order  506 K2CQ29A00002 AC CORD 1 H85EG,EC,EE,EF,EP,GA,GC, H95EE,GA,GC M4

Order  506 K2CT39A00002 AC CORD 1 H85EB,GA,GC, H86EB, H95GA,GC M4

Order  506 K2CA2YY00070 AC CORD 1 H85GK M4

Order  506 K2CJ29A00002 AC CORD 1 H85GN M4

Order  506 K2CA29A00021 AC CORD 1 H85GT M4

Order  506 K2CA2CA00025 AC CORD 1 H85P,PC, H86PU M4

Order  506 K2CJ29A00003 AC CORD 1 H86PR M4

Order  507 VSK0712 AC ADAPTER CHARGER 1 H85EG,EBK,EC,EE,EF,EP,GA,GN,GC, H86EB,PR,PU, H95EE,GA,GC M4

Order  507 VSK0713 AC ADAPTER CHARGER 1 H85GK M4

Order  507 VSK0714 AC ADAPTER CHARGER 1 H85GT M4

Order  507 VSK0711 AC ADAPTER CHARGER 1 H85P,PC M4

Order   508 VPN6972 PAD 1  M4

Order   508 VPN6994 PAD 1 H85GC, H95GC M4

Order   509  CD-ROM 1 H85EG,EB,EC,EE,EF,EP,GA,GN,GC,GT,P,PC, H86EB,PR,PU, H95EE,GA,GC M4

Order   509  CD-ROM 1 H85GK M4

Order  510 VQT2L19 O/I 1 H85EGGERMAN/FRENCH M4

Order  510 VQT2L20 O/I 1 H85EG ITALIAN/DUTCH M4

Order  510 VQT2L21 O/I 1 H85EG TURKISH M4

Order  510 VQT2L28 O/I 1 H85EB ENGLISH M4

Order  510 VQT2L23 O/I 1 H85EC PORTUGUESE/SPANISH M4

Order  510 VQT2L24 O/I 1 H85EC SWEDISH/DANISH M4

Order  510 VQT2L25 O/I 1 H85EC FINNISH M4

Order  510 VQT2L33 O/I 1 H85EE, H95EE RUSSIAN M4

Page 10 sur 11Parts List

30/03/2010http://tda.panasonic-europe-service.com/docs/2z4bb1b5ddz1z2dee8z6672z786d6cz22zbd6a87e45dcc18c6257e9f358f9f3c4c611932b4/ts...



Order  510 VQT2L34 O/I 1 H85EE, H95EE UKRAINIAN M4

Order  510 VQT2L22 O/I 1 H85EF FRENCH M4

Order  510 VQT2L26 O/I 1 H85EP ENGLISH/POLISH M4

Order  510 VQT2L27 O/I 1 H85EP CZECH/HUNGARIAN M4

Order  510 VQT2L31 O/I 1 H85GA, H95GA ENGLISH/CHINESE(TRADITIONAL) M4

Order  510 VQT2L32 O/I 1 H85GA, H95GA THAI/HINDI M4

Order  510 VQT2L36 O/I 1 H85GK CHINESE(SIMPLIFIED) M4

Order  510 VQT2L35 O/I 1 H85GN ENGLISH M4

Order  510 VQT2L29 O/I 1 H85GC, H95GC ENGLISH M4

Order  510 VQT2L30 O/I 1 H85GC, H95GC ARABIC/PERSIAN M4

Order  510 VQT2L18 O/I 1 H85GT CHINESE(TRADITIONAL) M4

Order  510 VQT2L14 O/I 1 H85P,PC ENGLISH M4

Order  510 VQT2L15 O/I 1 H85PC CANADIAN FRENCH M4

Order  510 VQT2N67 O/I 1 H86EB ENGLISH M4

Order  510 VQT2L17 O/I 1 H86PR,PU SPANISH M4

Order  510 VQT2L16 O/I 1 H86PU ENGLISH M4

Order  511 VFF0568 CD-ROM(O/I) 1 H85EG,EC,EP M4

Order  511 VFF0570 CD-ROM(O/I) 1 H85GA, H95GA M4

Order  511 VFF0569 CD-ROM(O/I) 1 H85GC, H95GC M4

Page 11 sur 11Parts List

30/03/2010http://tda.panasonic-europe-service.com/docs/2z4bb1b5ddz1z2dee8z6672z786d6cz22zbd6a87e45dcc18c6257e9f358f9f3c4c611932b4/ts...


